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And this one says, I do not know - YTV 1R TN ST

Overview

The R 13 attempted to refute 111 27 who maintains 779 72 W% (where the m? claims
Y71 °1R) from our 7awn which maintains 5>7¥ *32 (where the 2R claims ¥71° "X).
mooIn clarifies the comparison.

= NNYDN ON Y19 2N IMINY NPT

It is specifically when the Mm% claims, ‘I am uncertain whether you ever lent me

money’, that 1"7 rules 7>7Y 12 N7 -
= 199907 (3,10 97 xnp na3) NN YN NN 1NN ‘[‘:I ININN AN Y11 2N) INNYN YaN

However if the m> admits, ‘you lent me money, but I am not sure whether I
returned it’, in that case the 732 states in X202 9137 210 that the 79 is 297 —

moo1n responds to an anticipated difficulty:?
= 195235999 1IN 297 929V 599 DIPNI I

But nevertheless® the X123 asks properly on 1" from our 7w -
=499 NV 1Y 0NY NTINT 23 HY GNT

For even though the >Xw admits that the 2°Xw» handed over to him two cows -
= IND ON ININYND ON Y117 2N IIIN 199X 5797 HNN PINNY 1199

Nevertheless since the PX10 is returning one cow it is as if the 12 is saying, ‘I do

not know if you lent me or not -
$SNDINY NIV NHN ONX YT 1INRYI NNNX D993 1)

! The difference between these two cases is that a P50 cannot be X% from a *X7. Therefore in the case of *1°X1 "1n"77

NI or ¥7v there was (at one time) a 21’1 NP X7 on the M?; the p0 claim of ¥71° *1°X cannot be X°XM from the XM

2rn npm. However by 101977 ok ¥71° "X there was never a 21 NP1 °RT on the MY; in fact at some time there was a

Mwd npin kT (before the alleged loan took place), therefore the poo cannot create a 21°11 to be 111 XX,

2 Seemingly the cases in our mwn fall under the category of 77 NI X Y77 "X where even 1" agrees (as the 71wn

states) that the respondent is 2°n1. In our mwn we are certain that the X1 received the cows, but we are not sure

(whether he returned them or rather) whether he is exempt from returning them for they died o1&2. This seems to be

more like "N OR Y717 °1R than %10°1277 OR Y77 PR,

3 This means that even though 0717 ox ¥ °1X is 270, nevertheless the case of the mwn is actually like X ¥7v 1R

>1nM7:7 (or *1N7XWwi) than >NITAT OX Y717 IR as NDOIN continues to explain.

4 [mpon is now referring to the case where he gave him two cows 7MW nARY 728w nnx.] This would seemingly make

it similar to >N DR YT 1KY A0,

5 The cow that he is returning may be the borrowed cow (not the rented cow); in which case we are not certain whether

or not there is now a borrowed cow that needs to be returned. The question then becomes is the dead cow the rented

cow (for which he is not liable) or the borrowed cow (for which he is); in other words did you lend me a cow or not.

This is similar to 11277 X ¥71° "X [See previously 12w 71"7n (TIE footnote # 2) for a similar concept. ]

¢ In the case of 21 M7 all agree that there was a 211 and the argument is whether it was paid or not. We say that the

?90 payment cannot be XX from the 2117 *&7. However here we are not arguing whether the cow was returned or
1
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And similarly by one cow, when the 7072 does not know whether it died while it
was a TR is also considered *IN9XW DX YT 1K,

Summary
The case of Y717 21X IR 7397 700 I9IRW is similar to 2INYRWI aR Y7717 21X,

Thinking it over
Are the cases of two cows and one cow equally understood (why it is like ¥71° "X
"INYRW:T OX), or is it easier to understand by one of them, and which one?

not, but rather which cow died. If the 7712w died there was never a 211 npim on the 15w (he never owed the 2Rwn
money). Granted that the 7127w had the s"™°Xwn cows in his possession, but they are considered the s°xwn cows. There
was no debt owed to the 2>Xwn as by the M m»». We do not know that he ever owed him money for the death of the
77w for perhaps there was never any 7798w which he owed him money for, since it is possible that 7n» 770W.
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